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Question 1. Ravi walked 2 km towards the South, took a right turn and walked 3 km. Then he took a left turn and walked 2 km. At what distance is he now from the
starting point?

T 2 farel SfatoT & 3T T § 3R e Fs 3 el ot ¥ O a8 aTd Azt 3 2 fonel Trera B 31 a7 3 TR g @ frdel g ?

Options:
a) 2 km
2 frer
b) 5 km
5 foRar
c) 6 km

Correct Answer: 5 km

5 fralt

Candidate Answer: 5 km
5 TRt

Question 2. Find who is the tallest if:
ST ¥ FaY o T & I

I. Hari is taller than Amit but shorter than Yash.

g0, AT & T § e IU A BT B

II. Shashank is shorter than Yash but taller than Alok.
QRIS T A BT & , TR 3Telieh & &= B
III. Amit is shorter than Charu but taller than
AT, a6 F BT &, T T § ofall 5]
IV. Charu is taller than Yash.

& A T g

Options:

a) Charu

SIE

b) Shashank

RIH

c) Yash

T

d) Hari

gl

Correct Answer: Charu
BIEY

Candidate Answer: Charu
SIE

Question 3. Select the related number from the given alternatives.

T 1w faered 7 & wafeuca sear # g

83:249::7:291
Options:

a) 87

b) 97

c) 81

d) 91

Correct Answer: 97
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Candidate Answer: 97

Question 4. Select the related word from the given alternatives.
feu a1v faehedl 7 & Taieticd Use HI AT

Brinjal : Shrub :: Rice : ?
ST =y T ?
Options:

a) Herb

g8

b) Shrub

ElE

c) Tree

93

d) Grass

fa1ra

Correct Answer: Grass
U

Candidate Answer: Grass
i

Question 5. Complete the series 1, 2, 3,5, 8, ?
AGT H QAT 1, 2,3,5,8,?

Options:

a)9

b) 11

c)13

d) 15

Correct Answer: 13

Candidate Answer: 13

Question 6. Answer the given question according to the following information.
e & 91 T & ITER & T GeUT 1 ek Ao |
A * B means A is mother of B.
A*BHIITEA, BRI ACTE

A - B means A is son of B.
A-BHIITEA BF Ty

A + B means A is daughter of B
A+BaHATE, A BRI

A + B means A is sister of B.
A+BHFIFTEA BRIRAY

In the expression W + X * Y + Z, how is W related to Z?
FAROTW + X ¥ Y + ZHW HI Z H FIT T ¢ ?
Options:

a) Mother

AT

b) Daughter

Iér

c) Sister

afg=t

d) Son

Cral

Correct Answer: Sister
sfee

Candidate Answer: Mother
AT

Question 7. In a certain code 'bir le nac' means 'green and tasty. ' pi nac hor' means 'tomato is green’ and 'la bir hor' means 'food is tasty'. Which of the following
means 'tomato is tasty' in that code?
T3l & #7791 3 'bir le nac' T 31 § 'green and tasty'| 'pi nac hor' T 31 & 'tomato is green' , T& 'la bir hor' T 377 & 'food is tasty'| € e # 'tomato is tasty' T 31

FT gIaT ?



Options:

a) bir le hor

b) pi hor bir

) hor bir pic

d) bic nac hor

Correct Answer: pi hor bir

Candidate Answer: pi hor bir

Question 8. Select the odd word from the given alternatives.
feu 91T faehoat 7 & fawa e 1 gfAT |
Options:

a) Android

Tegrs

b) Windows

EEH

c) i0S

3TE M T

d) Bada

ClE Y

Correct Answer: Bada
ClLE LY

Candidate Answer: Bada
CllEiy

Question 9. If 4 is added to each digit of the number 2340124 and then all the even digits are divided by 2,
formed number is arranged in ascending order?

fe 2340124 m*mwﬁ4a}am%mmmﬁwﬁwmﬁaﬁzﬁﬁaﬁmﬁmm%]
37 379 e Feafey o & 1 ( ) .

) ydigits will retain their position when the newly

Flé' T T 3TRIET vl & T Ted fhar s ar fra=

Options:
a) None
S AL
b) One
Teh

c) Two
ar

d) Three
GG

Correct Answer: None
S AL
Candidate Answer: Two

a

Question 10. In the following question, a series is in which one or more alphabet is missing. Choose the correct alternative from the given options.

a=Aifene sreet o wan s & 18 ¥, ot va 4t w8 3 aof o § R fwodt F @ w8 3eaw gl

A, MB,LCN,DOEKF1J?7?7?°7?
Options:

a) GHHG

b) GQHP

c) GHGH

d) GPHQ

Correct Answer: GPHQ

Candidate Answer: GHGH

Question 11. In the following question, a series is given in which one word is missing. Choose the correct alternative from the given options.

fraAifenct et 3 vk siaer & 18 &, T Ua eg ofed ] v I farenent 7 & WEY 3eaw 9w

Triangle, Quadrilateral, Pentagon, Hexagon, ?
ST, TGS , TR AT, ?

Options:

a) Heptagon

T

b) Octagon

FTHSA

c) Enneagon

Eit:x

)



d) Decagon
T

el
Correct Answer: Heptagon
Rt
Candidate Answer: Heptagon
qed st

Question 12. The set of alphabets below follows a particular pattern. Which option does not follow the pattern?

ey feram I 3ERT 1 e Ueh TAfRISe eet i HTeR0T AT 8| fe=Tifeh & & et AT fdsheq Yewt T HTEROT ¢TIl ?

Alphabet set: AY, BZ, CW, DX, ?
378R0T FT AT @ AY, BZ, CW, DX, ?
Options:

a)Ev

b) ET

c) ES

d) EU

Correct Answer: EU
Candidate Answer: ES

Question 13. Select the related word from the given alternatives.
T 71w fashedt 7 @ FEafrted e i gfav]

Laugh : Giggle :: Walk : ?
T : AT : : Tl : ?
Options:

a) Run

A

b) Race

als

c) Saunter

W

d) Stride

TS e

Correct Answer: Saunter

Ll

Candidate Answer: Saunter

W

Question 14. Select the related letters from

T 1w faehedl # & Frafeted 3l w1 g

BFJ: DHL:: GKO: ?
Options:

a) HL

b) HLP

c) IMQ

d) 1K

Correct Answer: IMQ

Candidate Answer: HLP

Question 15. Which of the following Venn diagrams represents the given information?

ot 7 @ FleT 71 3 3@ A & 978 FEest a7 gfaffeg g

Building, Floor, Room

SARC ,del ,RT
Options:
a)
e W T
L .f"'\_ SN
b)
.'/.;--\.\\‘. I"/ ht
\, r\._ o ot



HE

Correct Answer:

©

Candidate Answer:

\&

Question 16. From the given alternative words, select the word which cannot be formed using the letters n word.
Ru a1v frenedl # & 3¢ 2reg A1 IIAT S 2T 10 ereg & 31&RT 1 TANeT 9k, LT AT ST Fohell & |

PROCRASTINATION

Options:
a) STATION
b) CARTON
c) PROTEIN
d) RASIN

Correct Answer: PROTEIN
Candidate Answer: PROTEIN

Question 17. Select the related group from the given

w a1w fawredt # & wrafeeca g & g

AEB:64::CCD:?
Options:

a) 69

b) 100

c) 121

d) 89

Correct Answer: 100
Candidate Answer: 100

Question 18. In the following question, a series is in which one alphabet is missing. Choose the correct alternative from the given options.

foreTifeRer geret # T sidgen & 715 8, forae van ot oo 81w 71 Aot # & we 3eaw 9|

AA, BC, CE, DG, ?
Options:

a) EH

b) EI

c)B)

d) FH

Correct Answer: EI
Candidate Answer: EI

Question 19. In the following question, a series is given in which one number is missing. Choose the correct alternative from the given options.

et sreret o van siwen & 18 3, ot va Hear e §|Rew i Rt i & W 3w g

12, 20, 30, ?
Options:

a) 44

b) 43



c)41
d) 42

Correct Answer: 42
Candidate Answer: 42

Question 20. Which given figure will best represent the relationship among these three elements?
Elements: Quadrilateral, Square, Rectangle

& Il 3Tt 7 @ e A 3T & 1w At Aeat & e & T B FE Tl AT 8?
& 91T dea: FFEgES, a9, 3 |
Options:

@

©

@)

g

b)

<)

d)

Correct Answer:

Candidate Answer:

0©

Question 21. In the following question, a series is give: is missing. Choose the correct alternative from the given options. fae=Tifehd g2t & T

ATl & 318 8, Tora# Teh ereg; oo ¢ few I et o &
Violet, Indigo, Blue, Green, ?
SaTAT | IR e el B2
Options:

a) Red

CICE

b) Orange

HIY

c) Yellow

e

d) Pink

EICIC]

]
Correct Answer: Yellow
e

Candidate Answer: Orange

Halr

Question 22. In the following question, a series is given in which one number is missing. Choose the correct alternative from the given options.

foretiferer geret & ok siwren & 718 B, forast v e oed §|few - fawedt 7 & @ ek 9|

23,46, 92, ?
Options:

a) 102

b) 108



c) 184
d) 194

Correct Answer: 184
Candidate Answer: 184

Question 23. Find out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is folded at the dotted line.

U 1T IR el & S UReRiT 2 &t sie Y@r ) AT S ¢, dt deot o TahR e |

Oiv
A:0

Options:

a)

9
..19)

b)

. @)
)

)

|9
)

d)

L D)
Correct Answer:
. |9
)
Candidate Answer:
@
L)

Question 24. Select the odd group from th:
Ru 1w fenedt 7 & fawe wogg &1 gfav |
Options:

a) A2727

b) D5G8

c) I9K12

d) F7Y26

Correct Answer: 19K12
Candidate Answer: D5G8

Question 25. In the following question, if a mirror is placed on the line MN, then which answer figure is the right image of the given figure?

IR fAeAifeha gereT 7 @ MN O Ueh S90T TG ST § af 92l 31Tehfer r weY gfafaes arelr sea anspfar gfae 2

E

Options:

E

b)



<)

d)

B |8 |

Correct Answer:

&

Candidate Answer:

Bl

Question 26. Find the answer figure which will complete the pattern of the question figure.

SIRIeT Tt 7 et &l T et aTell Seall T 2 RIS |

=

A3

Options:

TR

<

Correct Answer:

&

Candidate Answer:

Question 27. Select the odd letters from the given alternatives.
feu 91T faehoat 7 & fawa 3Rt & giav |

Options:
a) MPR




b) HKN
c) PSV
d) DGI

Correct Answer: MPR
Candidate Answer: MPR

Question 28. In the following question, a word is represented by only one set of number as given in any one of the alternatives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column. Example: R can be represented by 65, 76
and S can be represented by 11, 22, etc. Similarly, you have to identify the set for the word TOAD in the question.

IR T & | T UeC ol Ueh HEAT Hifg GaNT el a7 § Sre b fasmeddt 3 @ forndl wem 31 feam aram 8| Rrerodt #F T a1w wieea wofg 38R &1 ar @9t ganr axfie
AT &, o oA o aTw 3ireggl B 3megE-1 % Faw M AR 37 0 & 4 Grifar § 3R 3megE-11 & 5 & 9| 3T 3MTeyel H Ush 3R i Ugel 3HH dfered 3 a1g 7 ey
HEAT IR GRITAT 31T §| 387607 & fow R &1 65, 76 3R S @ 11, 22, ScATTe aRT TG fRar ST GehdT §| S8 X8 T9a U 370 2reg TOAD & folw Hefg 1 ugdme el
gl

MATRIX-I MATRIX-II
(HHE - 1) (3TE - 11)
Dj1(2]13]4 516171819
O[S|R|OJA|D SIE|T|O|U|R
HIDISIRIOIA GIRIEITIOIT
2ZIAID|S|IR|O TIUIR|IE|T]|O
J[OJA|DI|S|R S8|O|JU|R|E|T
4(RIOJA|D| S 9|T|IO|U|R|E
Options:

a) 95, 57, 03, 11

b) 89, 67, 42, 32

c) 56, 68, 14, 21

d) 67, 86, 31, 10

Correct Answer: 56, 68, 14, 21
Candidate Answer: 56, 68, 14, 21

Question 29. Select the odd number from the given alternatives.
fRw a1w fashedt # & fawe dear # gfw |
Options:

a) 1718

b) 2196

c) 2743

d) 3374

Correct Answer: 1718
Candidate Answer: 2743

Question 30. Pointing to a photograph of a boy a woman s e son of the only daughter of my grandmother." How is the woman related to that boy?
Wﬂ?ﬁ?ﬁ?aﬁm‘s’%mmg’wmﬁw"a%ﬁfraé’raﬁrswﬁeﬁaﬁaﬁaa%vmwmmﬁwm%‘l
Options:

a) Sister

aigeT

b) Mother

AT

c) Grandmother

i)

d) Daughter

Ca

Correct Answer: Sister

afest

Candidate Answer: Sister

afest

Question 31. In the following question, choose the embedded/hidden figure given in the question figure from the answer figures.

foretiferer geret # e smepfar & a1 fafea 3l &1 seav ampfar & 9|



O

Options:
a)

b)

)

d)

P

Correct Answer:

Candidate Answer:

Question 32. A company has six managers A, B, C, D, E and F. There are two
department. B is not in the same department as F. E is in marketing while C is

TS P9l A & a4 A,B,C,D,E 3R F § | v fasmr & ysera & fow ar
& | E Ruore fasmer 7 § 519t C faea fasmer # &

naging the same department. F is in the sales department. D is in the HR

AT A § | D, ATa T [T A | B 3@ RemT Ag g S Ramer d F

If sales department has two mangers, who i
I Tea AT Heryam g AT F &
Options:

a)D

b) C

c)B

d) A

Correct Answer: A

Candidate Answer: A

Question 33. A man is facing towards West and he starts walking and stops after 10 km. He turns to his left and walks for 2 km. Again, he takes a right turn and
walks for additional 10 km. In which direction is he facing now?

W%Wﬁﬁﬁg%&g@@y%ﬁ?ﬂ?mmm%am 10 5o & 1C FhclT § [T 319eT ATT H{SH 2 Rl Tora § | % Iot:art 3R {3 § 3R
FfRereT 10 el T g1 7 FIAT R | T8 319 Toha e g v weT & ?
Options:

a) North

3}

b) South

afaror

c) East

EC)

d) West

CIEGE: ]

Correct Answer: West

IR

Candidate Answer: West
CIEDE



Question 34. Select the odd number from the given alternatives.
feu 91T faehot 7 & faws Tear i g |

Options:

a) 576

b) 725

c) 864

d) 1008

Correct Answer: 725

Candidate Answer: 725

Question 35. Select the odd word from the given alternatives.
U 91T ot 7 & awH greq 1 gAT |
Options:

a) Impel

Seholell

b) Trigger

& HIAT

c) Instigate

HAShIAT

d) Confine

Afaa w@ar

Correct Answer: Confine

afaa w@ar

Candidate Answer: Confine

AT T@=T

Question 36. Find the answer figure which will complete the pattern of the question figure.

SR Tt 7 Yeat sl U et aTell Seall T 2T HIfS |

"

Options:
a

o

)

4

<)

B\

d)
f
Correct Answer:

A

Candidate Answer:

Question 37. Find out the missing number on the basis of the given figures.
T 1w Hew et 7 qed wear A S|

)
N




1 5 11 13 19 3

17
Options:
a)l
b) 21
c)9
d) 29
Correct Answer: 29
Candidate Answer: 29

Question 38. In the following question, choose the embedded/hidden figure given in the question figure from the answer figures.

TAeAiTahc et & it M 7 & 978 Al 3rpfer i 3cc) 3mpfar & gforw|

bl

Options:
a)

Correct Answer:

Candidate Answer:

Question 39. In the following question, if a mirror is placed on the line MN, then which answer figure is the right image of the given figure?

IR AR 92T 3 X@T MN 9 Tk GUOT TG ST & dF T2 37Tl it Fe gfafaes arel 3cak mpfar gferw ?

Options:
a)




s
1Ay

b)

d) ”
VA
Correct An-swer:

Qﬁ

Candidate Answer:

Question 40. From the given alternative words, select the word which cannot be formed using the' letters af the given word.

T 1T faehedl 7 W 39 ¢rse 1 AT S QU 1T 2Ueg; o IH&RT F1 T Xk, AT AT S Hehell &

0

<)

CHLOROPHYLL
Options:

a) POORLY

b) COLOR

c) CooLy

d) HIOLO

Correct Answer: HIOLO
Candidate Answer: HIOLO
one set of number as given in any one of the alternatives. The sets of numbers given in the

ices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of
epresented first by its row and next by its column. Example: R can be represented by 65, 76

Question 41. In the following question, a word IS
alternatives are represented by two classes of alph
Matrix II are numbered from 5 to 9. A letter from thes
and S can be represented by 11, 22, etc. Similarly, you h e set for the word ROUTE in the question.

=i TRt # | U 206G ol Ueh HEAT 4dlg cal Gl St o fasrent 7 & el wan  feam arrm §| faerol 9 oW 97w Seam Hefg 378 &1 &7 991t anT aile
aram g, S T o T a1w el # 8| amegg-1e Eee SN Ui 3ie 0 § 4 geffar § 31k 3megg-11 & 5 & 9] 37 el # U HeR I Ugel 3T Ul 3R a1 7 waoer
T SART SRMTAT 12T §| 3ET60T & fAIT R &1 65, 76 3IIX S &1 11, 22, ScATTE GaRT F&fRid T ST HehelT §| S8 A8 3T9e! fGU 91T 2req ROUTE & foiw wagg hr wgaret
FE L

MATRIX-I MATRIX-II
(Mg - 1) {3ledg - 11)
01112134 5([6|7]|81]9
0|S|R|O|JA|D SIE|T|O|JUIR
IIDISIRIOIA GIRIEITIOIU
2IAID|S|R|O TIUIR|E|T|O
J|OJA|DI|S| K S§|O|U|RJE|T
4|R|O|A|D| S 9|T|IO|U|R|E
Options:

a) 01, 57, 75, 85, 88
b) 34, 68, 86, 67, 99
c) 40, 58, 69, 95, 55
d) 23, 56, 97, 78, 66
Correct Answer: 34, 68, 86, 67, 99



Candidate Answer: 34, 68, 86, 67, 99

Question 42. If in a certain language MEDICINE is coded as EMIDICEN, how can ANALYSIS be coded in that code?
T3 & #7191 3 MEDICINE Y EMIDICEN & &9 & shieag R ST § |3 #7791 & ANALYSIS &1 38 shearg fanar s
Options:

a) ANALYSIS

b) NALASYSI

c) ANLASYIS

d) NALAYIS

Correct Answer: NALASYSI
Candidate Answer: NALASYSI

Question 43. In the following question, two statements are given, followed by four conclusions. You have to consider the statements to be true even if they seem to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follow from the given statements.

AR & FYeT T 91T §, ST a1 IR ARy U 7w E|3me feT 7T et Y TE) AT & R g 98 Tafafed ag & e i o 8f| 3 Aol o § f few atw
forsepsit 3 I PleT-aT forseh eyt a7 HTEROT Helr &

Statements:
EXICH

All animals are cuddly.
T ST FerA E |

All monkeys are animals.
T3 e ST § |

Conclusions:

IGA=o

1. Some animals are cuddly.

FS SR HATH gl

II. Some animals are not cuddly.
TS A HAGH 761 8|

III. All cuddly are monkeys.

Tl e de § |

IV. No monkey is an animal.
NS FeX AT AL B

Options:

a) Only I follows

Tl [ T80T AT ¢ |

b) Only II follows

et 11 3FTER0T Y § |

c) Only III follows

aharef I11 37T aX0T e &

d) Only 1V follows

el IV 3TTE0T T § |
Correct Answer: Only I follows
T [ 3FTEROT AT |
Candidate Answer: Only III follows
aaref 111 31807 & 8]

Question 44. Which of the following Venn diagrams represents the given information?

=T 3 O leT A1 3T 3R A1 & 918 FE=sit &1 wfaffteg sar gl

Birds, Peacock, Bat
galr AR IHeTes

Options:
a)



.
©

d)

J

Correct Answer:

Candidate Answer:

Question 45. A company has six managers A, B, C, D, E and F. There are two managers managing the same department. F is in the sales department. D is in the HR
department. B is not in the same department as F. E is in marketing while C is in finance.

Teh HeTal # &: Yaeh A,B,C,D,E3RFE | voh fasmr & ysta & v S usern § | F, o [AAET H | D, AT |

£ | E Quure Rsmer # § 519 C aea Ramer # 8] -
What is the department of B? . ( >

s % §1 B 3 RysTr & 181 & v Rrsar o F

B &1 AT FATE ?
Options:

a) HR -’
b) Finance

ﬁﬁr =
c) Marketing

faqure

d) Cannot be determined

e &7 T ST gemar

Correct Answer: Cannot be determined
e 18T ohaT ST TRl
Candidate Answer: Cannot be determined

e &7 [Far s gear

Question 46. In the following question, three statements are given, followed by three conclusions. You have to consider the statements to be true even if they seem to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follow from the given statements.

A DT FUaT Ru a1v §,T5ass a1g N vy U aw &30 2T 10 2= i TEY A § 7 918 98 adfafed a2 @ f@ea =i o gf| 3maen Aol oar & & e e
forsapnif 3% & ler-ar forsand averat &7 JreTeror e 3

Statement:
Exiey

Some birds are trees
Fo qEl g&T ¢ |

All farms are rocks
Tl @ I B

All trees are farms

Tl gat A B

Conclusions:

oSy

1. Some birds are rocks

o qal T ¥ |

II. Some birds are not farms.
Fo R ET A E |

III. All farms are trees

o W T ¢



Options:

a) Only I follow

Farel 1 31oTER0T e §

b) Only III and II follow

aparef 111 31 11 3 ER0T el 3|
c) . Either I or III follows

137 111 3 & IS Teh HeTER0T et &
d) None follows

IS I EROT & HIT 8]
Correct Answer: Only I follow
& [ 3FTEROT T B

Candidate Answer: Only I follow
Farel 1 31eTER0T T §

Question 47. Find out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is folded at the dotted line.

U 1T IR Rl F 59 UReRiT 2 @i sie Y@r ) AT ST ¢, dr deot o TahR femam |

o

i
H

Options:
a)

Question 48. Select the related number from the given alternatives.

T 1w faered 7 & wafeuca dear # g

4:1024::6:7
Options:

a) 7776

b) 5356

c) 8888

d) 6778

Correct Answer: 7776
Candidate Answer: 7776

Question 49. Which of the following human eye defects is for short-sightedness, in which a person can see the near objects clearly but not far objects?

o071 & @ FleT &1 AT TS fehe ¢fSe A A e &, TS safere are oy a&g3il 1 A1 W Hehell § wifehed GF hT aE 31T T I LT ST Fehell 87
Options:



a) Myopia

e Ty

b) Hypermetropia
g efieay

c) Presbyopia
BRI

d) Astigmatism
Tieaw=r

Correct Answer: Myopia
foiehe Tfieay

Candidate Answer: Myopia
forehe TiReay

Question 50. Who was the first Finance Minister of India before Indo-Pak division?
HRA-TT TTHTSTT § Tgel AR & el [ded FHAT dief A?
Options:

a) Muhammad Ali Jinnah

HeFAe, e fSTre

b) Allama Muhammad Igbal

STCCITAT HEFAG FohaTel

c) Aga Khan III

3191 @i 111

d) Liaquat Ali Khan

ToTehd 3telr @t

Correct Answer: Liaquat Ali Khan

TorITehe 37l Wt

Candidate Answer: Muhammad Ali Jinnah . _,,>
HEFAC el TorTE )

O

Question 51. Which among the following is not a tributary of Ganga?
7T H T leT-TT TCT IR AT TEIF ATGAT 7 A oTal g7

Options:

a) Gomti
AT

b) Damodar
gAY

c) Kosi

Earsiy

d) Satluj
Hcdelal

)

Correct Answer: Satluj
Hclelol

Candidate Answer: Satluj
HclelsT

)

Question 52. The infamous 'Dyarchy' was a feature of which of these British-India Acts?
FEAIT ‘gfarae @t 7 @ o fafeer-ara sfafaae & v fadwar 4
Options:

a) The Indian Councils Act 1892

HRA aikvg i 1892

b) The Indian Councils Act 1909

AR aRwe Hfafaaes 1909

c) The Government of India Act 1919

AR WHR Hfafaas 1919

d) The Government of India Act 1935

HRT THR AHIH 1935

Correct Answer: The Government of India Act 1919
HRT R iz 1919

Candidate Answer: The Government of India Act 1935
AR THR fafaaa 1935

Question 53. Which of the following is the monomer for nucleic acid?

TR # & =gfeFeieh 31 ] Teholth hidt 52



Options:

a) DNA
ATTT

b) RNA
3ARTAT

c) Nucleotide
T FeRIereS
d) Phosphate
HEHT

Correct Answer: Nucleotide
gfFeraIerss

Candidate Answer: DNA
ATTT

Question 54. In the absence of the President and Vice-President, who has the power to act as the President of India?

Wﬁﬁwuﬁﬂﬂﬁs@u@ﬁﬁ,mﬁ%wﬁﬁmﬁﬁaﬁrﬁmﬁmsﬁﬁ

Options:

a) Auditor General of India

HRA T AGTeRET IeTH

b) Speaker of Lok Sabha

Slieh HHT T ETeT

c) Chief Justice of India

IR T HET AATERT

d) Senior most Governor of a State
e T T aRss Tsaara

Correct Answer: Chief Justice of India
IR T HET AATERT

Candidate Answer: Chief Justice of India
IR T HEH FATTeeT

Question 55. Who among the following is credited for designing the symbol of In
HRAT F9 & Yl &l [3oTged it a1 A fohaehr ST 87
Options:

a) D. Udaya Kumar

2. 3¢ $AR

b) V. Sunil

. gerer

c) Shahrukh J. Irani

UAETW ., AT

d) Hitesh Padmashali

ferer geTRIen

Correct Answer: D. Udaya Kumar
2. 38T $AR

Candidate Answer: D. Udaya Kumar
2. 3¢ FAR

Question 56. Who was the first sports person to win Bharat Ratna?
AR TeoT Siiciet ATl Tgall RTST HisT Ar?
Options:

a) Viswanathan Annand

TEaTe 31TeG

b) Sachin Tendulkar

i cigere]

c) Abhinav Bindra

31T foar

d) Dhyan Chand

2y

Correct Answer: Sachin Tendulkar
' Z
Candidate Answer: Sachin Tendulkar

Tl ciger

Question 57. In which of the following four cities of India does the minting of Indian coins takes place?

IR F FieT T IR A F AR Rt @Telr 1T 872



Options:

a) Mumbai, Kolkata, Hyderabad, Noida

b) Pune, Chennai, Hyderabad, Jabalpur

c) Delhi, Kolkata, Secunderabad, Jabalpur

Teeell, SleTenicll, FehexelTe, STeeqY

d) Mumbai, Chennai, Hyderabad, Delhi

Correct Answer: Mumbai, Kolkata, Hyderabad, Noida
Candidate Answer: Delhi, Kolkata, Secunderabad, Jabalpur

Question 58. Which of the following was the only cricketer who joined Indian National Congress and contested 2014 Lok Sabha election from Phulpur, Uttar Pradesh?

7T & @ FleT |1 geholiall ohehex & forae) IRl ISERT hiale & FerqR SocX TS=T & 2014 olich T T AT ofsT ?

Options:

a) Mohammad Kaif
HigHHe

b) Sachin Tendulkar
i ciger]

¢) Mohammad Azharuddin

AT, ISTEeeeT

d) Kapil Dev

Fioer &g

Correct Answer: Mohammad Kaif
HAIgFAE, Fh

Candidate Answer: Mohammad Kaif

HgHAS

Question 59. The first bank in India founded in 1881 and managed by Indians as
AR HT UGl S Torgen! TAI=AT 1881 ﬁrgéaﬂtsﬁsmﬁm’raamwrﬁa o, ar g:-
Options:

a) State Bank of India

HRAT & §F

b) Punjab National Bank

SIS AT deh

¢) Oudh Commercial Bank

IFYATOISTS S

d) Hindustan Bank

IEXSIGCED

Correct Answer: Oudh Commercial Bank
IFYAIOISTS d6

Candidate Answer: Punjab National Bank
IoTT AT ek

Question 60. In which year did Nagaland become a separate state?
R I & Aol T 3TeRT IS =7 AT?

Options:

a) 1960

b) 1961

c) 1962

d) 1963

Correct Answer: 1963

Candidate Answer: 1962

Question 61. Who was the chairman of the 14t Finance Commission?

egd facdiRT 3mART & 3eTe Fia 37
Options:

a) Ajay Narayan Jha

37T FARMIOT ST

b) A. M.Khusro

TOAGERT

c) Dr. Vijay L.Kelkar



31, AT el Fer

d) Dr. Y. V. Reddy

& ard. S

Correct Answer: Dr. Y. V. Reddy
1. ars. dr s

Candidate Answer: Dr. Y. V. Reddy
3. s, a3

Question 62. Name the chemical which was used as a component of poison gas during World War- I and does not occur naturally on Earth as an element?

17T & @ HleT A T Y Teol 1929 Jg o SR STediell 31 o Teh Tesh o §9 H STAATC 1T 3147 AT 3R S Ueh ded & &9 H Y2l OT Wieplcleh &9 & Seleed oAg1 1?2
Options:

a) Bromine

AT

b) Mercury

B ey

c) Gallium

Ao

d) Selenium

Faferas

Correct Answer: Bromine

sifaeT

Candidate Answer: Gallium

e

Question 63. What is called Sagarmatha in Nepal and Chomolungma in Tibet?
a8 1 & TSI8 w1aTel & HEREATT 3N fosaa & wiH7aT shet S 2

Options:

a) Nanda Devi
e g

b) Mount Everest
R

c) Kanchenjunga
FHAASAI

d) Kamet

FHT

Correct Answer: Mount Everest

TRE

Candidate Answer: Kanchenjunga
. .

O

ress in the Surat Session 19077
gam ?

Question 64. Who was elected as the President of Indian
i YA TT 1907 3 HRART TSCT 134G  SEAET e &9 21
Options:

a) Dr. Rash Bihari Ghosh

= T ferdr ey

b) Lala Lajpat Rai

olTell efloidd T

c) Bipin Chandra Pal

9T Tog a1t

d) Bal Gangadhar Tilak

ST IR e

Correct Answer: Dr. Rash Bihari Ghosh
37 3 fogry ey

Candidate Answer: Dr. Rash Bihari Ghosh
37 T fogry iy

Question 65. Which of the following words was not added in the Preamble of the Constitution by the 42nd Amendment?
T 7 A &l F 2Ueq Y 427 T GIRT TGUTT T TEATTAT 3 AT SiIST AT AT?

Options:

a) Socialist

HATSTATET

b) Integrity

I@sdr



c) Equality
HHATAT
d) Secular

erAfeIeT

Correct Answer: Equality
HHTAT

Candidate Answer: Secular

eaifeRaeT

Question 66. Jan Koum and Brian Acton are the founders of which of the following messaging application?
SieT o R ST vere T 7 @ fone HATST Toelieere & SR §?

Options:

a) Hike

g5

b) Skype

R

¢) WhatsApp

geETed

d) Snapchat

e

Correct Answer: WhatsApp

= {

Candidate Answer: Hike
EEa

-

Question 67. Which of the following colourless mineral comprising of 27% of our bones helps in detoxing the hu& body?
THARY g373T & 27% i T i AT TTE TfeisT § ST ATT TRl ST H Feg, Il 67 »
Options: >
a) Calcium

Hferra

b) Sugar
At

c) Rock salt
e FAHR
d) Iron

ek 0
Correct Answer: Rock salt

T STHR
Candidate Answer: Calcium

Fioerma

Question 68. The first Chief Election Commissioner of India
AR & I UG HET FoATd TIFA et &2
Options:

a) Sukumar Sen

FHAR

b) K.V.K. Sundaram

&. 4.3, GreH

c) Nagendra Singh

s g

d) M. S. Gill

AT, e

Correct Answer: Sukumar Sen
FHAR A

Candidate Answer: K.V.K. Sundaram
&.d1.%. GreH

Question 69. In Ribonucleic Acid (RNA), which nitrogenous base is not present among the following?
S el TfS (IRTAT) #, T 7 & Sl A1 ASEIstergera 8TR 3T 61 81T 87

Options:

a) Cytosine

RilELEIT)

b) Adenine



lyECiC)
c) Thymine
AT

d) Guanine

I3TAA

Correct Answer: Thymine
AqISHA

Candidate Answer: Thymine

USHT

Question 70. Name the city which is also referred as the "Gateway to south India"?
"af&T0T (IR & AT R’ & T 3 ford 2 Y Faifera e S 82
Options:

a) Mumbai

S

b) Chennai

Aeels

c) Hyderabad

G

d) Rameshwaram

TARMEH

Correct Answer: Chennai
Aeels
Candidate Answer: Rameshwaram

TFREH

Question 71. The Indian River that flows from East to West is:
et A AT & I A aRRTH 3R e &2

Options:

a) Ganga

e

b) Kaveri

FTET

c) Narmada
Her

d) Brahmaputra
SEAYT

9
Correct Answer: Narmada

atar

Candidate Answer: Narmada

atar

Question 72. Which date is the shortest day a
FleT T AT A o ok e 3R T ey I a
Options:

a) 237 September

23 fa=R

b) 3" January

3 FeAa

c) 22" December

22 fgaFR

d) 24 September

24 farR

Correct Answer: 22"d December

22 eEFR

Candidate Answer: 22"d December

22 fRemFek

Question 73. What is PL/I ?
P/l FTE?

Options:
a) Programme Language Due



I WTaeT 5

b) Private Scale Integration

UISAT Thel ST

c) Programme of Language

P 3T st

d) Programme Link One

e ol aet

Correct Answer: Programme of Language
P 3HTH vdsT

Candidate Answer: Programme Link One

oere ol aer

Question 74. One which is not considered as naturally occurring greenhouse gas is:
et & & oy e et g13 3 a1l e St 82

Options:
a) Ethane

e

b) Methane

e

c) CO?

3i?

d) Nitrous Oxide

e 3iTaEs

Correct Answer: Ethane
T

Candidate Answer: Ethane

o)

Question 75. Nalsarovar Bird Sanctuary in India is in which state?
AR A FAeRRIaR gall qefagr fhg T 7 872
Options:

a) Rajasthan

T8 AT

b) Kerala

Execy

c) Gujarat

TSI

d) Jharkhand

FIRTS

Correct Answer: Gujarat

ISR

=]
Candidate Answer: Kerala

el

Question 76. Which of the following species is officially.declared as a critically endangered species in India by International Union for the Conservation of Nature
(IUCN)?

FHARSE el EXETOT Her @y folest & & forey il bt 31fRIshieh i OX 1R # Ueh 3181R &0 & ooy Foiferat & &9 & eif¥ fovar aram 82
Options:

a) Bengal Tiger

SIS ST

b) Mugger Crocodile

HIN HIRATS

c) Eagle Owl

3oc]

d) Indian Vulture

AR g

Correct Answer: Indian Vulture
AR g
Candidate Answer: Indian Vulture

aRAT g

Question 77. Which of the following types of plants have lignified tissues for supplying water and minerals to the different parts of the plant?
o=t 3 & fore 9 & ey 3 i & fafdee et #F o 3k wfes 1 3l e & T adr s g 87



Options:

a) Herbaceous plants

TR e

b) Non-vascular plants

IR-Fagetr dier

c) Succulent plants

THER qier

d) Vascular plants

gl aer

Correct Answer: Vascular plants
Hager qier

Candidate Answer: Succulent plants
THER qier

Question 78. Which one of the following gives money to the government leading to deficit financing?
et 7 8 FleT THR &I §T &ar ¢ oy aRkone %9 faedia amer giar 872

Options:

a) IMF

IMSTATH

b) RBI

KIIECIKIES

c) Local Govt

TR TWER

d) Corporate Houses
Frale g3yg

Correct Answer: RBI
IREBETE

Candidate Answer: IMF

IMSTATH

Question 79. Along which country's coast does the El-Nino flow?
ToRE &2T & AC & T Tel-ailell T IaT8 81T 67
Options:

a) Sri Lanka

Eiccal

b) China

Eic

c) Peru

I®

d) Japan

SIsIG)

Correct Answer: Peru

9w

Candidate Answer: Japan
STeT

Question 80. Which one of the following games was historically known as 'Poona’ or 'Poonah' named after the town of Pune? The rules of this game were drawn in
this city.

oot & & forg Wt QTTgTiles &9 § "1 A7 "GEATE:" o SATH & ST STl AT i goT 26T o oA IX WM ITAT A2 58 Tl & FAIH b1 39 26 A IR Foham a1 ar?
Options:

a) Hockey

gIehr

b) Badminton

CEGLC

c) Kabaddi

EEEE

d) Cricket

e

Correct Answer: Badminton

Sefiea

Candidate Answer: Hockey
g

Question 81.



Match the following vitamins with their correct
scientific name.

frm faefw o1 o7 o sahe T F ay fEr &
1. Vitamin A a. Ascorbic acid

faera o T Iae® TS

17. Vitamin E b. Tocopherols
faerfie & EaL
III .Vita.min C c. Retinol

fqerfiF ¢ e

Ty, Vitamin D d. Cholecalcifercl
o :

Options:
a)l-c
II-b
III-a
IvV-d
b)I-d
II-a
III-b
Iv-d
cl-c
II-d
III-a
IV-b
dI-d
II-c
III-a
IV-b
Correct Answer: I - c
II-b
II-a
Iv-d
Candidate Answer: I - c
II-d
III-a
IV-b

Question 82. Pick out the Scalar Quantity:
TheR TR FATR?

Options:

a) Force.

el

b) Pressure.

CCIC)

c) Velocity.

T

d) Acceleration.

ca’oT

Correct Answer: Pressure.
CIC)

Candidate Answer: Pressure.
cda

Question 83. Which one of the following is part of the Electoral College for the election of the President of India but does not form part of the forum for his
impeachment?

Ffafld # & i, 9Ra & Tegufa & g & fov Patae dAser 1 e §, After wseafar & wgifder i e 767 82

Options:

a) Lok Sabha

ClETsE

b) Rajya Sabha

SIHAT

c) State Legislative Councils
T faumt aiwg

d) State Legislative Assemblies
T faumT @

Correct Answer: State Legislative Assemblies
T faumT aem



Candidate Answer: State Legislative Councils

T Y gRve

Question 84. Who is responsible for appointing the Comptroller and Auditor General in India?
AR H e vd Fgror qdats i g & v wia seaverd 82
Options:

a) President

Tsgafa

b) Lok Sabha

CIET:ta]

c) Rajya Sabha

T [T

d) Prime Minister

TUTAHAT

Correct Answer: President

Tsegfa

Candidate Answer: President

Tsgafa

Question 85. Which Mughal emperor built 'Biwi ka Magbara' in memory of his mother, Dilras Banu Begum, resembling Taj Mahal?
o1 & Tohg #J37er FaTe o 39 AT, RoRT S1AT So1e oy 1 7 AlsiHg e 1 Tehir ST sl a7 Hepar T a1?

Options:

a) Aurangzeb {
b) Azam Shah

3oTH M

c) Bahadur Shah II

SgTey <Mg 11

d) Akbar Shah II

3ThsX ATE 11

Correct Answer: Azam Shah
3131 A

Candidate Answer: Aurangzeb

kiiccicc

Question 86. Which one of the following is a famous forest in Biha
after the case of indigo farmers came into limeli

0 means "forest of magnolia" and found its way into the history books in 1917,

ST & T oY 1917 # <ot et & Aoy % gRiat 7 3 & ae, sfagw &

Options:

a) Bhagalpur
HIETAIX

b) Vaishali
garmelr

c) Munger
PR

d) Champaran
TIROT

Correct Answer: Champaran
TIROT

Candidate Answer: Munger

EZCIny

)

Question 87. Some points like Liberty, Equality and Fraternity in the Indian constitution are borrowed from another constitution. Which is this constitution?
AR FfIETeT & T, AT 3R ASAR S Fo o el 3w dfau= § faw aw §) S dfaene & 2

Options:

a) United States constitution

TYFT TS T FideweT

b) French constitution

-

¢) British constitution

fofeer dfaeme

d) Irish constitution

3mafyer afgemsT



Correct Answer: French constitution
g AfgeeT
Candidate Answer: British constitution

farfeer afaemr

Question 88. Which among the following is the only Prime Minister whose signature can be seen on Indian currency?
1T 3 & FleT |7 O saweliar Tt § foieTeh SETeT AR HeT TR &8 S Wbl 82
Options:

a) Lal Bahadur Shastri

el SETER A

b) V. P. Singh

a1, 9.

c) Gulzarilal Nanda

pEEC cEC

d) Manmohan Singh

AR &g

Correct Answer: Manmohan Singh

AAARET &g

Candidate Answer: Lal Bahadur Shastri

el SETER A

Question 89. Mahatma Gandhi Marine National Park is situated in which state?

HETeAT el TR FReTer UTeh oy T 3 e &7
Options:

a) Kerala

FTel

b) Andhra Pradesh

3T geRr

¢) Jharkhand

SIRTS

d) Andaman & Nicobar

3EAT UF AR

Correct Answer: Andaman & Nicobar
3EAT Td APER

Candidate Answer: Jharkhand
SIRES

Question 90. Which alloy is commonly used in s and Brackets that connect the teeth?

o=t 7 @ ey A ey e &7 T 3mAdR 9 Tesifeaa 7 fFar ST & S gial S Shsdr 8?2
Options:

a) Austenite
TR

b) Nitinol
ffestrer

c) Alnico
LEIEED)

d) Nichrome

[GEIC)

Correct Answer: Nitinol

fAfestter

Candidate Answer: Nitinol

Afester

Question 91. A square and a right angled triangle have same base and same perimeter. Find the ratio of their areas.
Tk 9T 3N HHRIOT AT T HHT IUR 3R FART TRAT | $oTeh &1l T 3T AT DS |

Options:

a) 3:2

b) 4:3

c)4:1

d) 3:4

Correct Answer: 3:2

Candidate Answer: 4:3

Question 92. If 5cos20 + 3sin?6 = 4, Find the value of sin® and cos26.



& 5c0526 + 3sin26 = 4, @Y sind 3R 0526 T AT FIc HY |

Options:
a)

Correct Answer:

1
= E'U

Candidate Answer:
L1
S |

2

Question 93. If XY=yX and y = 3x, then x is equal to
If X=y*and y = 3x, AN X N &

Options:
a) V2

b) V3

c)3

d)2

Correct Answer: V3

Candidate Answer: 3

Question 94. On a certain sum the simple interest for 12> years js 3 . the rate of interest is:
Rl ffRad TfY 9X 121 ot & AIURoT SA1T 580 AR T 34 §| & ?

Options:

a) 5 % per year

5 % ufa a¥
b) 6 % per year
6 % 9fa a¥
c) 7 % per year
7 % 9fa av
d) 8 % per year
8 % ufa aw

Correct Answer: 6 % per year

6 % 9f aw

Candidate Answer: 6 % per year
6 % gfa a¥

Question 95. The average age of a family of 6 members 3 years ago was 25 years. Meanwhile a child was adopted in this family and still the average age of the
whole family is same today. The present age of the child is?

6 HEET aTel Teh URAR % Tl i e 3mg 3 a¥ ugel 25 a¥ | 38 SRt TRER & Ueh e &Y AT AR AR F IRaR B 3iac 3y 3l & § e 3 av g
o | &t = 1 aFe I ¥
Options:

a) 8 years

8ay

b) 7 years

73y

c) 6 years

6ay

d) 5 years

59y

Correct Answer: 7 years



7 ag

Candidate Answer: 6 years

6 a%

Question 96. In the following pie charts percentage of student studied A,B,C and D in year 2014 and 2015 are shown.
fe=ifera arg arcf 3 a¥ 2014 31k 2015 ,T A,B,C 31X D T 31eTT il arel faeanfdat & ufaerdar & 1 & |

Year 2014-T9 2014 Year 2015-T4 2015

Total students in year 2014 and year 2015 are 3600 and 4000 respectively.
ay 2014 31T 2015 # Fof faemif shaer: 3600 37 4000 |

How many students studied subject A and C in year 2014 and 2015 together?
ay 2014 3 2015 # w2 A 3R C Teat arel Taezniiat hr el T vttt 82
Options:

a) 4400

b) 4200

c) 2600

d) 1800

Correct Answer: 4400

Candidate Answer: 4400

y

e'Ce

ntr)‘md the ratio of their radii is
AT Y

Question 97. If the arc of the same length in two circle subtend angle of 60° & 90
IfE & gl 7 FAT oS &Y =TT g TR 60° 3 90° T 10T TATC &, Y FoTehr

Options:
a) 1/3

b) 1/2
c) 3/2
d)2

Correct Answer: 3/2
Candidate Answer: 3/2

Question 98. If the shadow of a tower is 30m when the
ST ST 60° O BT & AT TraX 1 ooTs 30 HIET glell ¢ oisl
Options:

a)30v3m

30V3 #r

b) 30 m

30 A

c)90m

90 #r

d) 10vV3 m

10V3 #r

Correct Answer: 90 m
90 #r

Candidate Answer: 10vV3 m
10V3 #r

°, what is the length of the shadow when the sun's altitude is 30°:

© Ox N oY TRSTs fehetely g1l |

Question 99. There would be a loss of 10% if an article is sold for Rs. 43.20. At what price should it be sold to gain 10%?
I el aF T Rs. 43.20 O o4 SIRY AT 10 wferere i gifey gieft| 3 fancter 3 o STy fo 33 10 wicerd &7 amer gt 2
Options:

a) Rs. 48.80

b) Rs. 52.80

c) Rs. 56.20

d) Rs. 56.80

Correct Answer: Rs. 52.80

Candidate Answer: Rs. 56.80



Question 100.

3
If tan & = E , Find the value of COS 26

3
o tand =2 €08 26 @ o w3

Options:

a) 24/25

b) 16/25

c) 7/25

d) 9/20

Correct Answer: 7/25
Candidate Answer: 16/25

Question 101. sin?@ - cos*8 is
sin?0 - cos*0 &

Options:

a) cos 26

b) -sin 26

o1

d) -cos 26

Correct Answer: -cos 20
Candidate Answer: cos 20

Question 102.
If a+1/a =7, then find the value of a® + i

ofg a+lla=T7.da? +§${Hﬁﬁo‘d¢ﬁ%‘?

Options:

a) 48

b) 49

c) 47

d) 50

Correct Answer: 47
Candidate Answer: 47

Question 103. The digit at Hundred's place va
17! 7 dg & VI W I A IHF ¢ ?
Options:

a)l

b) 0

c)?2

d)7

Correct Answer: 0

Candidate Answer: 0

Question 104. James and Vaibhav are gamblers. Last year, the ratio between money lost by James and Vaibhav was 4:5. The ratios of their individual losses of the
last year and present year are 3:5 and 2:3 respectively. If total loss incurred to both of them this year is Rs. 3,57,000, the present loss of James is:

ST 3 deva S & Trsel a¥ o 3R Ao Y g% U 1 il 1 AN 4:5 % | Froer a¥ 3R FTAR o 3 o7 AP giiera 1 3ot AR 3:5 W 2:3 % |
I aAAT ¥ # At &1 el ATl el g1fat Rs. 3,57,000 & A S5 T actaret gifet ettt ket 82

Options:

a) Rs. 1,70,000

b) Rs. 1,59,000

c) Rs. 1,68,000

d) Rs. 1,37,000

Correct Answer: Rs. 1,68,000

Candidate Answer: Rs. 1,68,000

Question 105. Following is a data regarding export and import of a company over the years. Answer the question given below.

AT 3tierst fA9ra aut & Teh suell & 3mard 3R FITT S eRiiar & | 7= e 31w ueat & 3cav &



Value of exports (in % Lakhs)

oot &1 AT ( TETEr A )

300
50
200
50
100
5
8
2009 2010 2011 2012 2013 2014
Value of imports {in Rs Lakhs)
STHTT &7 ;M (TarEr 7))
400
350
300
250
20
150
&0
' 2009 2010 2011 2012 2013 2014

What was the percentage decline in the value of exports from 2010 to 2011?
2010 @ 2011 & orer g fAafict & fepctoy fcerey o forae g% 2
Options:

a) 30%

b) 17%

c) 25%

d) 3%

Correct Answer: 30%
Candidate Answer: 30%

Question 106. A' can finish a work in 10 days. The efficiency of 'A 'B'. In how many days B will finish the same work?
'A' REY T @ 10 T 7 FACT R Tehar g Al 20% F T Fder At & Fm?

Options:

a) 8.5 days
8.5 &t

b) 12.3 days
123 %

c) 8 days

8 et

d) 7.5 days
7.5 fe=

Correct Answer: 8 days

8 feet

Candidate Answer: 8 days
8 feet

Question 107. Following is a data regarding export and import of a company over the years. Answer the question given below.
AR 31ieher et ast & veh Hu=i & 3T 3R 2T Fr giar § | A e 1w geat & 3eav &



Walue of exports (in % Lalkhs)

OTT 1 AT ( TETEF OH )

g

300
250
200
150
100
F(.
- 2009 2010 2011 2012 2013 2014
Value of imports {in Rs Lakhs)
HTHT &7 AT (@t 7))
400
350

300

25
200
150
203 2011 2012 2013 2014

2010

w o o\ 3w

The value of imports in year 2011 was what percentage (approximate) of the average value of exports in @ 009, 2010 and 2011?
a¥ 2009, 2010 31X 2011 #'g':rﬁrq‘lr-r F 3T T AR Fohd=TT TfAUT a¥ 201 19T 3T &

Options:

a) 40%

b) 135%

c) 43%

d) 130%

Correct Answer: 130%

Candidate Answer: 43%

Question 108. In a class the number of girls is 10 more than the f the number of boys is increased by 10% and the number of girls is increased by
5% there would be 9 more girls than boys. What is thi class.

TUeh aT # oT3fohdl Al TEAT oIShi h TE&aT o
wTsfRal T TEAT 5 $ TEIAT H 9 31w
Options:

a) 70

b) 55

c) 60

d) 65

Correct Answer: 70
Candidate Answer: 55

Question 109. If x= (v3+1)"1/3, then the value of (x3-1/x3)
e If x= (V3+1) 13, ar (:3-1/3) AR &

Options:

a) (3-°3)/2

b) °3/2

c)3/2

d) -(3+°3)/2

Correct Answer: -(3+°3)/2

Candidate Answer: 3/2

Question 110. A sum of Rs. 5324/- is accumulated in 3 years at 10% compound interest. What is the original amount.
10% TEraci SaTel W 3 a¥ 3 H1$ TFA Rs. 5324 g7 AT §| FT R fretetr § 2

Options:

a) Rs. 2000

b) Rs. 4000

c) Rs. 6000

d) Rs. 3000

Correct Answer: Rs. 4000

Candidate Answer: Rs. 4000



Question 111. If A ABD is an equilateral triangle and AB = 6 and CE = 18, what fraction of the trapezium BACE is shaded?
af& A ABD wFaTg F38fsT & 3R AB= 6 3k CE=18 ¥ Gt Wavera=r BACE T STaifehct 81197 fiicief & 2

C D E

Options:

a)1/3

b) 1/4

c)1/5

d) 1/6

Correct Answer: 1/4
Candidate Answer: 1/4

Question 112.
Ifx=3+/2, y= 342 then the value of

x2+y7
P

R x= 3492, y= 32 A 2 oy o i R

EHFE
Options:
a) 11/45
b) 5/9
c) 67/157
d) 61/540
Correct Answer: 11/45
Candidate Answer: 5/9

Question 113. The equation of the graph given below is-

A few a1 YT R v geheror F=ar

Options:

a) Y=4

b) X=4

c) X=-4

d) Y=0

Correct Answer: X=4
Candidate Answer: X=4

Question 114. If (va+vb) = 15 and (Va-vb) = 3 then the value of vab /4 is
gfe (Va+vb) = 15 31X (Va-vb) = 3 aY Vab /4 &1 AT =T &2

Options:

a) 14.5

b) 13.5

c) 155

d) 16.5

Correct Answer: 13.5

Candidate Answer: 15.5



Question 115. In the following pie charts percentage of student studied A,B,C and D in year 2014 and 2015 are shown.
fe=tifeRd a1 el & a¥ 2014 317 2015 ,T A,B,C 31 D &7 31eq el aTel faenfiat fr gfaeaar s ¢ |

Year 2014-T9 2014 Year 2015-T8 2015

Total students in year 2014 and year 2015 are 3600 and 4000 respectively.
a¥ 2014 31X 2015 # Fer faezmit sHeer: 3600 317 4000 2

Number of students who studied subject B and C in year 2014 is how much percent less than that of year 2015.
3§ 2014 7 fawr B 3R C ge=t arer faganf@iat i wear av 2015 # $o¢ geat arel & frder ufaea 7 ¢ |
Options:

a) 37.5

b) 27.5

c) 47.5

d) 32.5

Correct Answer: 32.5

Candidate Answer: 37.5

Question 116. Following is a data regarding export and import of a company over the years. Ans given below.

AT 3iiehsr [39rg asf & veh uell & 3mard 3R [T I eiiar & | R fow arw weat & 3¢

Value of exports (in % Lakhs)

FooTe 1 AT ( SETEr H )

22

Value of imports {in Rs Lakhs
HTHT &7 AT (@t 7 )
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In which year the difference between the imports and exports was minimum?

g a¥ 3maTd 3R AT & I 1 3R FEd FH AT ?

Options:

a) 2009

b) 2014

c) 2010

d) 2012

Correct Answer: 2010

Candidate Answer: 2014



Question 117. The ratio of sides of two regular polygons is 3:4 then the ratio of each exterior angle of these polygons is:

& T SgIil o FASTG ST T AT 3:4 &, T g7 T TS b Fcdeh STET HIVT T eIl FT §19TT?

Asem

Options:
a) 3:2

b) 2:1
c)4:3
d) 3:4

VSN
Correct Answer: 4:3
Candidate Answer: 2:1
“Zz B N, of

Question 118. What is least possible humber when it is divided by 13 leaves 8 and when divided by 7 Ieav} remainder 6?
a8 OIS § OIS FfaT HEAT T § TS 13 F 97 & IX 8 AW FeelT § 3R 7 F 8197 27 0¥ 6 AL ?

)

Options:

a) 38

b) 34

c) 40

d) 41

Correct Answer: 34
Candidate Answer: 34

stead of Rs. 500?
Qe

Question 119. What is the discount allowed if;
e foell a& T Rs. 500 T ST Rs. 400
Options:

a) 14.30%

b) 20%

c) 15%

d) 80%

Correct Answer: 20%

Candidate Answer: 20%

t Rs.

Question 120. 10 Kg of wheat priced at Rs. 8 is mixed with 15 kg of wheat priced at Rs. 10. What is the average price of whole mixture?
Rs. 8 I aTell 10 feheitarat g T Rs. 10 Tl 15 fohell 31§ o Wy THT Sl &| T 0T &1 i e fehiedt gof?
Options:

a) Rs. 9.5/ kg

Rs. 9.5/ feelr

b) Rs. 9.2/ kg

Rs. 9.2/ faeir

c)Rs. 7.5/ kg

Rs. 7.5/ et

d) Rs. 8.5/ kg

Rs. 8.5/ feair

Correct Answer: Rs. 9.2/ kg
Rs. 9.2/ feeir

Candidate Answer: Rs. 9.5/ kg
Rs. 9.5/ fhelr

Question 121. Given a quadratic equation X2+ bx + c=0. If cis replaced with h, the roots of the equation so formed are (4,3). If in the original equation b is replaced
with k, the roots of the equation so formed are (2,3). What are the actual roots?



T G FHIEFOT X2+ bx + c=0 2T 27 &1 AR ¢ T h & A e AT AR A THEROT F 7 (4,3) 171 A TR et 7 b @ k & A aee R S ar
FHFIOT & Fel (2,3) 81T | AT Fel T iaT?

Options:

a) (6,1)

b) (-4,3)

) (2,-3)

d) (2,4)

Correct Answer: (6,1)

Candidate Answer: (2,-3)

Question 122. Amit received a discount of 20 % on an item which was sold at Rs. 1600. What was the marked price of the item?
AT T el T TR 20% T e v Bl B, FAA Rs. 1600 # =1 1| A 1 3Rt e T ?

Options:

a) Rs. 2000
b) Rs. 1680
c) Rs. 2200
d) Rs. 1280

Correct Answer: Rs. 2000
Candidate Answer: Rs. 1680

Question 123. Following is a data regarding export and import of a company over the years. Answer the question given below.

FTaf@d 3iier faerg ast & v uel & 3mara 3R T @ eiar | i e are geat & 3eaw &)

Value of exports (in % Lalkhs)

O 7 A ( TETEF A )

g
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Value of imports {in Rs Lakhs)
HTAT T AT { % FTET. \
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What was the percentage increase in imports from year 2011 to 2012?
AT A G 2011 A Ay 2012 # frcter wfcrerd 1 gfg g% 2

Options:

a) 25%

b) 40%

c) 20%

d) 50%

Correct Answer: 40%

Candidate Answer: 40%

Question 124. The area of a rhombus of which one side is 25 cm and diagonal is 30 cm is:
25 T 37 3T 30 VAT Taehol arel FHEEHST 1 S el grTT?

Options:

a) 600 sq cm

600 Tt aF

b) 750 sq cm

750 g3t Jr



c) 500 sq cm
500 To7 B
d) 550 sq cm
550 g3t 3=

Correct Answer: 600 sq cm

600 TaT T

Candidate Answer: 750 sq cm
750 @37 &

Question 125, If 3%*3 x 925 = 33X+7 then the value of X is:
afe 3X+3 y 92x-5 = 33x+7 ar x & =T %—_

Options:

a)5

b) 6

c)7

d)4

Correct Answer: 7

Candidate Answer: 7

Question 126. The selling price of 8 articles is same as the cost price of 10 articles. What is profit %?
8 TE3T 1 fashar Fer 10 aEg3 & T 7T & SR § | ot wfarerd Rrtarr 82

Options:

a) 25%

b) 20%

c) 22%

d) 33%

Correct Answer: 25%
Candidate Answer: 25%

Question 127. Find the value of cos20° + cos100° + cos140°
€0520° + c0s100° + c0s140° T AT AT |

Options:

a0

b) -1

ol

d) none of these

TR A IS TG
Correct Answer: 0
Candidate Answer: 1

Question 128.
1 1

— - ————2 =

VB V7 Wi 1B

e = - :,.S)Esmﬁﬂqrcmmam%

P T A e
WI—B  WB-VT WTE

The simplest value of (. ,;
-

Options:
a) 3-V5
b) 3
c)V5

d) v5-3

Correct Answer: 3-V5
Candidate Answer: 3-V5

Question 129. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

She returned the computer after she noticed it was damaged.
Options:

a) Return the computer after

b) Returned a computer after

c) Return a computer then

d) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement

Question 130. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Back to the wall



Options:

a) In a difficult or a serious situation

b) In a difficult relationship which will not continue for long

c) In an easy situation where you know all the tricks to crack it

d) In the middle of a calculation problem which is too easy to solve

Correct Answer: In a difficult or a serious situation
Candidate Answer: In a difficult relationship which will not continue for long

Question 131. Choose the word opposite in meaning to the given word.

Conscientious
Options:

a) Iniquitous
b) Nefarious
c) Reprobate
d) Careless

Correct Answer: Careless
Candidate Answer: Careless

Question 132. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

Carmen must be quite a woman to inspire such from Katie.
Options:

a) motif

b) admiration

c) knowledge (
d) perjury

Correct Answer: admiration
Candidate Answer: knowledge ( )

Question 133. Some parts of the sentences have errors and some are correct. Find out of which frt of ajentence has an error and choose corresponding to the

appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

An effective secondary research requires data to be collected from discreet sourc
Options:

a) Requires data to be

b) Discreet sources

c) Effective secondary research

d) No error

Correct Answer: Discreet sources

Candidate Answer: Requires data to be

urnals )nagazmes and other published material.

Question 134. Out of the four alternatives, choo st expresses the meaning of the given word.

Havoc

Options:

a) Carnage

b) Collocation

c) Tranquillity

d) Inertia

Correct Answer: Carnage
Candidate Answer: Tranquillity

Question 135. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Once in a blue moon

Options:

a) An event that never happens

b) An event that is very special

c) An event that happens infrequently

d) An event that is very unfortunate

Correct Answer: An event that happens infrequently

Candidate Answer: An event that never happens

Question 136. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

Photos of my favourite childhood actors bring on pure . of our efforts.
Options:

a) accuracy

b) nostalgia

c) reality

d) futurist



Correct Answer: nostalgia
Candidate Answer: futurist

Question 137. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

The art of stuffing and mounting the skin of animals for the purpose of study or simply for display
Options:

a) Hegemony

b) Taxidermy

c) Anemone

d) Plebeian

Correct Answer: Taxidermy

Candidate Answer: Taxidermy

Question 138. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

The customer complains to the representative and informed him that none of the holiday packages falls within his budget.
Options:

a) complained to

b) complaint to

c) complained

d) No improvement

Correct Answer: complained to

Candidate Answer: complaint to

Question 139. In the following question, a part of the sentence is underlined. Below are given alternatives to the,underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

The CEO made it very clear in the annual meeting that the only criteria to promote an employee would be(ms perf)rmance and nothing else.

Options:

a) sole criteria )
b) sole criterion

c) only criterion

d) No improvement

Correct Answer: only criterion

Candidate Answer: only criterion

Question 140. Sentences given with blanks to be filled in with an approp YFour alternatives are suggested. Choose the correct alternative out of the four.

His colleague suggested him to discuss all his ithathe h department, whether on a personal or a professional front.
Options:

a) injustices

b) protestations
c) tyrannies

d) grievances

Correct Answer: grievances
Candidate Answer: grievances

Question 141. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

He stopped to
Options:

a) presume
b) scold

c) evaluate
d) reject
Correct Answer: evaluate
Candidate Answer: evaluate

the gold ornaments in the shop window.

Question 142. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:

a) Valetudeinarian

b) Valeutidinarian

c) Valetudinarian

d) Valetudenarian

Correct Answer: Valetudinarian

Candidate Answer: Valetudenarian

Question 143. Some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose corresponding to the
appropriate option. If a sentence is free from error choose corresponding to 'No Error'.



A fatigued relationship with her husband persuaded her to consult a marriage counsellor in order to save her marriage.
Options:

a) Fatigued

b) Persuaded

c) Consult

d) No error

Correct Answer: Fatigued
Candidate Answer: Persuaded

Question 144. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

A place for grains.
Options:

a) Granary

b) Gregarious

c) Hearse

d) Mortuary

Correct Answer: Granary
Candidate Answer: Granary

Question 145. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

An inscription written in the memory of a deceased person
Options:

a) Paean

b) Neophyte

) Mercenary P~
d) Epitaph )
Correct Answer: Epitaph » P

Candidate Answer: Epitaph

Question 146. Some parts of the sentences have errors and some are correct. Find gut O?Whichspa tof/d sentence has an error and choose corresponding to the
appropriate option. If a sentence is free from error choose corresponding to 'No Ekror

Despite the limited budget, the chief minister managed to improve the infrastruct; e'§taté€, much beyond the expectations of the general public.
Options:

a) Improve the infrastructure

b) Despite the limited

c) Managed to improve

d) No error

Correct Answer: No error

Candidate Answer: Despite the limited

Question 147. Out of the four alternatives, choose the ubstituted for the given words/sentences.

A labourer involved in loading and unloading ships
Options:

a) Somnambulist

b) Sinophobe

c) Stevedore

d) Septuagenarian

Correct Answer: Stevedore
Candidate Answer: Stevedore

Question 148. Some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose corresponding to the
appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

Though the political party won by majority in the preceding elections, it failed to form a successful government at the centre.
Options:

a) Though the

b) At the centre

¢) The preceding elections

d) No error

Correct Answer: No error
Candidate Answer: At the centre

Question 149. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

After bidding farewell to her old colleagues, she left the place which baffled everyone.
Options:
a) hastily



b) easily
c) eventually
d) obediently

Correct Answer: hastily
Candidate Answer: easily

Question 150. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

This is her second marriage and if it does not work this time she will break completely.
Options:

a) will break out

b) will be broke

c) will brake

d) No improvement

Correct Answer: No improvement

Candidate Answer: will be broke

Question 151. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:

a) Obnoxious

b) Obnoxcious

c) Obnaoxious

d) Obnoxous

Correct Answer: Obnoxious

Candidate Answer: Obnoxious

V
Question 152. Four words are given, out of which only one word is correctly spelt. Find the correctly speltiword.
Options: )
a) Monastary N
b) Monastery
c) Monestary »

d) Monestery
Correct Answer: Monastery
Candidate Answer: Monestary

N\

)

»

(

Question 153. Four words are given, out of which only one word is correctly s
Options:

a) Pinnacle

b) Pinackle

c) Peenacle

d) Pineacle

Correct Answer: Pinnacle
Candidate Answer: Pinnacle

correctly spelt word.

Question 154. Four alternatives are given for the Idiom/Phr erlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

To kill two birds with one stone.

Options:

a) To solve two problems immediately after hearing it at the first instance.
b) To attain two things or to solve two problems with one action.

c) To solve two problems one by one.

d) To attain two things together with no action required.

Correct Answer: To attain two things or to solve two problems with one action.
Candidate Answer: To solve two problems immediately after hearing it at the first instance.

Question 155. Choose the word opposite in meaning to the given word.

Opaque
Options:

a) Dark

b) Indefinite

c) Nebulous

d) Transparent

Correct Answer: Transparent
Candidate Answer: Transparent

Question 156. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

When she was younger, she believed in fairy tales.




Options:

a) She believes in fairy tales.

b) She believe in a fairy tale.

c) She believe in fairy tale.

d) No improvement

Correct Answer: No improvement

Candidate Answer: She believes in fairy tales.

Question 157. Out of the four alternatives, choose the one which best expresses the meaning of the given word.

Feasible

Options:

a) Preposterous

b) Attainable

c) Dreadful

d) Hassle

Correct Answer: Attainable

Candidate Answer: Attainable

Question 158. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:

a) Voyeuristic

b) Veterinerian

c) Trouvuer

d) Vuadeville

Correct Answer: Voyeuristic
Candidate Answer: Veterinerian

Question 159. Choose the word opposite in meaning to the given word.

Contradict

Options:

a) Abnegate

b) Traverse

c) Refute

d) Agree

Correct Answer: Agree
Candidate Answer: Agree

Question 160. Out of the four alternatives, choose the one which for the given words/sentences.

The art of paper folding.

Options:

a) Origami

b) Trichotomy

c) Dichotomy

d) Plenipotentiary

Correct Answer: Origami
Candidate Answer: Plenipotentiary

Question 161. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Salt of the earth

Options:

a) Said for a person who is too interested in material pleasures
b) Said for a tough situation

c) Said for a very simple analytical problem

d) Said for a very worthy and good person

Correct Answer: Said for a very worthy and good person

Candidate Answer: Said for a tough situation

Question 162. Choose the word opposite in meaning to the given word.

Fantasy

Options:

a) Illusion

b) Vision

c) Reality

d) Dreamy

Correct Answer: Reality
Candidate Answer: Illusion



Question 163. Which of the following statements best describes the association between 'patience’ and 'competition'?
Options:

a) Patience and a healthy competition, both, end up in a calmer mind which helps in fabricating a novel plan.

b) Patience and a healthy competition, both, help in evincing positivity within oneself.

c) Patience and a healthy competition, both, help in giving an improved performance of oneself.

d) Patience and a healthy competition, both, help in becoming resilient towards failures in life.

Correct Answer: Patience and a healthy competition, both, help in giving an improved performance of oneself.

Candidate Answer: Patience and a healthy competition, both, help in giving an improved performance of oneself.

Question 164. Which of the following is the most appropriate title for the given passage?
Options:

a) Patience and competition - The pros and cons

b) Patience and competition - An interconnection

c) Patience and healthy competition - A way of becoming resilient

d) Patience and healthy competition - The route to improved performance

Correct Answer: Patience and healthy competition - The route to improved performance

Candidate Answer: Patience and competition - An interconnection

Question 165. According to the passage, what can 'beauty' be defined as?

Options:

a) A heart that does not accommodate a single negative thought for anyone and is happy, truthful and unpretentious in all situations of life.

b) A heart that possesses all the three - compassion, benevolence and humaneness.

c) A person who has assimilated the trait of 'forgiveness' in his habits.

d) A person who incessantly struggles every day to convert his negative thoughts, detestations and abhorrenge into 5ositive feelings.

Correct Answer: A heart that does not accommodate a single negative thought for anyone and is happy, truthfiul and unpretentious in all situations of life.

Candidate Answer: A person who has assimilated the trait of 'forgiveness' in his habits. y

Question 166. How did 'forgiveness' become a route to happiness for the author?

/ N
Options: { <
a) Forgiveness brought tranquillity to the author by converting his negative thoughts into positive bnes. 3
b) Forgiveness made the author to experience 'bliss' in life by making his sorrows disappe;r. “\‘ /
c) Forgiveness made the author to look more beautiful on the inside as well as the dutsidé. 1
d) Forgiveness enabled the author to appreciate not only his own beauty but als auty of the transitional world.

Correct Answer: Forgiveness brought tranquillity to the author by converting his i thougiﬂs into positive ones.
Candidate Answer: Forgiveness made the author to experience 'bliss' in life i is sorrows disappear.

Question 167. According to the author, how can one become beautiful?
Options:

a) By making all sorrows, dejections and pessimism v:
b) By incessantly struggling every day to cre
c) By converting all negative thoughts into posi
d) By keeping yourself and others happy irrespect
Correct Answer: By incessantly struggling every da

Candidate Answer: By converting all negative though

s tho! ver existed in the first place.
a ha nd a pure inner self.
help 6F assimilation of 'forgiveness' into one's habits.

success or a failure.
eart and a happy and a pure inner self.
ings with the help of assimilation of 'forgiveness' into one's habits.

Question 168. According to the passage, what'is the underlying meaning of the phrase "take the time to be beautiful"?
Options:

a) It means taking time in understanding that forgiveness brings tranquillity while hatred becomes revulsion.

b) It means taking time to find the route to happiness and 'bliss' in life.

c) It means taking time to augment your beauty by becoming a purer human being.

d) It means taking time to spread 'beauty' to others by gifting it to the world.

Correct Answer: It means taking time to augment your beauty by becoming a purer human being.

Candidate Answer: It means taking time to find the route to happiness and 'bliss' in life.

Question 169. Which of the following best describes the message of this passage?

Options:

a) Each one of us should strive to appreciate one's own beauty and the beauty of this transitional world.

b) Each one of us should realise the strength of positive thoughts and should strive to convert pessimism into positive feelings every day.
c) Each one of us should realise that beauty is not merely a trait of the physical body but it is also a trait of the inner self.

d) Each one of us should strive to become beautiful by developing qualities within ourselves.

Correct Answer: Each one of us should strive to become beautiful by developing qualities within ourselves.

Candidate Answer: Each one of us should realise the strength of positive thoughts and should strive to convert pessimism into positive feelings every day.



